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Sample Paper – 2009

Class – XII
Subject – INFORMATICS PRACTICES
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      M.M. 70

	Note : 

1. This question paper is divided into sections.
2. Section – A consists 30 marks.

3. Section – B and Section – C are of 20 marks each.
4. Answer the questions after carefully reading the text.

	Section – A

	Q 1. 
	Answer the following questions.    
	

	
	a) Define – (i) Freeware     ii) Shareware    iii) OpenSource       iv) Tomcat
	2

	
	b) What is the purpose of Data Mining? 
	2

	
	c) Define the following terms.
	2

	
	     i) Data Dictionary                     ii) Data Warehousing
	

	
	d) What is E-R model? Explain the concept of E-R model using the case study of a school that has three entities: Student, Teacher and Subject. Assume that each student can study more than one subject while each teacher can teach only one subject.
	2

	
	e) Name the essential components of SDLC. 
	2

	Q 2. 
	Answer the following questions.
	

	
	a) What is Bound Control? Name any two data aware properties of bound controls. 
	2

	
	b) Explain the following terms:
      i) Startup Form    ii) Load Statement   iii) Show Method       iv) Event
	2

	
	c) How is a standard module different from a form module? Explain with example. 
	2

	
	d) Explain the term Data Provider and Data Control.
	2

	
	e) Differentiate between public and private variables and discuss their scope of visibility.
	2

	Q 3.
	a) Differentiate between DML and DCL giving suitable example of each case.
	2

	
	b) What is the need of normalization? Define second normal form.
	2

	
	c) State the difference between –

      i) Constraints and Triggers.       ii) Before and After trigger 
	2

	
	d) Define database Transaction. What is the role of SavePoint in database transaction?
	2

	
	e) What is Cursor in PL/SQL? Explain the commands associated with cursor.   
	2

	Section B

	Q 4. 
	Read the following case study and answer the questions that follow.
	

	
	A School library has two categories of members: Students and Faculty Members. Students are issued books for a week whereas faculty members are issued books for 3 days. A fine of Rs. 6 and Rs. 10 per extra day is charged from students and faculty members respectively, if the book is returned after the due date. The interface for the application as given below:
Object Type

Object Name

Description

Form

FrmLibrary
Main Form

Text Box

textbook ID
To enter book ID
txtIssuedOn
To enter issue date
txtMemberID
To enter member ID
txtReturnOn
To enter return date of book
Option Button

optStudent
To Select  Member type 
optFaculty
Command Button

cmdCalcFine
To calculate fine
cmdClear

To clear the entered values

cmdExit

To close the application
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	a) Book ID and Member ID should be non-blank alphanumeric characters.
	1

	
	b) Text box TxtIssuedOn should be set to system date when the form loads and user should not allow changing it.
	1

	
	c) Ideal return date should be calculated according to the logic explained above and should be stored in the text box TxtReturnOn.
	3

	
	d) When the user clicks the CmdCalcFine button, the fine amount should be displayed in a message box.
	3

	
	e) Write the code for CmdClear command button to clear all the text boxes and set the default member type to student. Also write the code for CmdExit to close the application.
	2

	Q 5.
	a) Find the error from the following code segment and rewrite the corrected code underlining the correction made(VB): 

x=50 ; y=10
for i= 1 to 100 then
if x mod 6 = 0

   print x+y
end
x=x**x+y*2

y+1= y
loop 
	2

	
	b) Find the output of the following code segment:

    dim st as string, I as integer

     st = "Happy New Year"

     For i = 1 To Len(st)

         If i Mod 4 = 1 Then

             ss = Mid(st, i, 1)

             ss = ss + "SS"

             Print ss;

          End If

     Next
	2

	
	c) Change the following code using FOR loop without affecting the output.
      Dim count, ans
           Ans=1
           Count =20
           Do 
                Ans =ans+count
                Count =count-3
           Print ans

           LOOP UNTIL count <=12          
	2

	
	d) Write a function that takes two string and return 0 if both the arguments are equal. The function returns -1 if the first argument is smaller than the second and 1 if the second argument is smaller than the first.
	2

	
	e) Write a function that take a numeric argument and return the sum of its digits.
	2

	Section C

	Q 6. 
	Answer the following question.
	

	
	a) Write the output produced by the following part of code in PL/SQL. 

DECLARE

    Num NUMBER;
    Counter NUMBER;

BEGIN

         Counter :=8;

          Num:=4;
          While counter>4 Loop
               Num:=num-2;

               Counter:=counter-1
                   If counter>4 then

                       Dbms_Output.Put_Line(counter);

                   End if;            
          End loop;

           DBMS_OUTPUT.PUT_LINE(num);

 END;
	2

	
	b) Find Error in the following code, underline errors and rewrite the correct code.

    DECLARE

    NUMBER Total ;

BEGIN;
Total:=30;

          LOOP

            Total:=total***3;

                DBMS_OUTPUT.PUT_LINE(total);

            EXIT WHEN total>2000;

          ENDLOOP;

END;
	2

	
	c) Rewrite the following PL/SQL loop so that you do not use loop at all.
     FOR I IN 1..2 LOOP
        IF I=1 THEN

            Calc_bonus(p_id,200000);

        ELSIF I=2 THEN

            Calc_bonus(c_id,500000);

       END IF;

     END LOOP;
	2



	
	d) Write a PL/SQL function AddPrime to return sum of all prime numbers between M and N. M and N is passed as argument. 
	4

	Q 7. 
	Answer the following question based on the HOSPITAL table.

Table : HOSPITAL
Column Name

Data Type

Size

Constraint

Description

P_No
NUMBER
4
Primary Key
Patient Number

P_Name
VARCHAR2

30

NOT NULL

Name of the Patient
Department
VARCHAR2

20

Department  to which patient is admitted
Doc_Name

VARCHAR2

30

NOT NULL

Name of the Doctor
DOB

DATE

Date of Birth of Patient
Consul_Fee

NUMBER

5,2

Consultation Fees

	

	
	a) Write the SQL command to create the table Hospital including its constraints.
	1

	
	b) Write the SQL command to display the details of all the patients whose date of birth is after 12th Feb 2006 department wise.
	2

	
	c) Write a PL/SQL procedure Old_Patient to decrease consolation fee by 15% for a patient number passed to procedure, if the year of birth of patient is before 1970.
	2

	
	d) Write a PL/SQL code using an explicit cursor to display details of all the patients in the SURGERY department. The code should also display the total consultation fees of all such patients.
	3

	
	e) Write PL/SQL code to create trigger HISTORY which inserts a row which is deleted from hospital table.
	2
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